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vk£Fkd xf.krh; fof/k;k¡ ,oa izkjfEHkd lkaf[;dh

Time : 2 Hours] [Max. Marks : 70

Note :– This paper is of Seventy (70) marks divided into

two (02) Sections ‘A’ and ‘B’. Attempt the questions

contained in these Sections according to the detailed

instructions given there in. Candidates should limit

their answers to the questions on the given answer

sheet. No additional (B) answer sheet will be

issued.

;g iz'u&i= lÙkj (70) vadksa dk gS] tks nks (02) [k.Mksa

^d* rFkk ^[k* esa foHkkftr gSA izR;sd [k.M esa fn, x,

foLr̀r funsZ'kksa ds vuqlkj gh iz'uksa dks gy djuk gSA ijh{kkFkhZ

vius iz'uksa ds mÙkj nh xbZ mÙkj&iqfLrdk rd gh lhfer

j[ksaA dksbZ vfrfjDr (ch) mÙkj&iqfLrdk tkjh ugha dh

tk;sxhA
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Section–A

([k.M–v)

Long Answer Type Questions

(nh?kZ mÙkjh; iz'u) 2×19=38

Note :– Section ‘A’ contains Five (05) Long-answer

type questions of Nineteen (19) marks each.

Learners are required to answer any two (02)

questions only.

[k.M ^d* esa ik¡p (05) nh?kZ mÙkjh; iz'u fn;s x;s gSa] izR;sd

iz'u ds fy, mUuhl (19) vad fu/kkZfjr gSaA f'k{kk£Fk;ksa dks

buesa ls dsoy nks (02) iz'uksa ds mÙkj nsus gSaA

1. What do you understand by input output analysis ?

Describe its main features in detail.

vkxr fuxZr fo'ys"k.k ls vki D;k le>rs gSa \ bldh izeq[k

fo'ks"krkvksa dk foLrkj ls o.kZu dhft,A

2. What do you understand by secondary data ? Explain

in detail what precautions should be taken before using

them ?

f}rh;d leadks ls vki D;k le>rs gSa \ buds mi;ksx ls igys

D;k lko/kkfu;k¡ cjruh pkfg, foLrkjiwoZd crkb,A

3. Find Karl Pearson’s correlation coefficient for the

following data :
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X Y

3 8

6 10

9 12

12 4

15 6

18 5

21 3

fuEu vk¡dM+ksa ds fy, dkyZ fi;jlu dk lg&lEcUk xq.kkad KKr

dhft, %

X Y

3 8

6 10

9 12

12 4

15 6

18 5

21 3
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4. What is Index Number ? Explain in detail any one of

the various methods of constructing an index number.

lwpdkad D;k gS \ lwpdkad fuekZ.k djus dh fofHkék fof/k;ksa esa

ls fdlh Hkh ,d fof/k dks foLrkjiwoZd crkb,A

5. What do you understand by Central Statistical

Organization (CSO) ? How does the Central Statistical

Organization (CSO) contribute to the formulation and

implementation of economic and social policies in India.

Explain in brief.

dsUæh; lkaf[;dh; laxBu ls vki D;k le>rs gSa \ Hkkjr esa

vk£Fkd lkekftd uhfr;ksa ds fuekZ.k vkSj fØ;kUo;u esa dsUæh;

lkaf[;dh; laxBu dSls ;ksxnku nsrk gS \ la{ksi esa le>kb,A

Section–B

([k.M–c)

Short Answer Type Questions

(y?kq mÙkjh; iz'u) 4×8=32

Note :– Section ‘B’ contains Eight (08) Short-answer type

questions of Eight (08) marks each. Learners are

required to answer any four (04) questions only.

[k.M ^[k* esa vkB (08) y?kq mÙkjh; iz'u fn;s x;s gSa]

izR;sd iz'u ds fy, vkB (08) vad fu/kkZfjr gSaA f'k{kk£Fk;ksa

dks buesa ls dsoy pkj (04) iz'uksa ds mÙkj nsus gSaA
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1. Solve the following as instructed :

(i) 3 2( 3 7)x x dx+ +∫

(ii) (log )x dx∫

(iii)
2 2

1
(3 1)x dx+∫

(iv)
1 2
0

xe dx∫

fuEufyf[kr dks funsZ'kkuqlkj gy dhft, %

(i) 3 2( 3 7)x x dx+ +∫

(ii) (log )x dx∫

(iii)
2 2

1
(3 1)x dx+∫

(iv)
1 2

0

xe dx∫

2. If 2 1A
0 3

  =   
 and 1 4B

3 2
  =   

, find AB.

;fn 2 1A
0 3

  =   
 o 1 4B

3 2
  =   

 gks] rks AB dk eku Kkr

dhft,A

3. What do you understand by Dispersion ? Describe in

brief the various methods of measuring it.

vifdj.k ls vki D;k le>rs gSa \ bls ekius dh fofHkék fof/k;ksa
dk la{ksi esa o.kZu dhft,A
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4. What do you understand by Regression ? Explain its

usefulness in economic analysis.

izfrixeu ls vki D;k le>rs gSa \ vk£Fkd fo'ys"k.k esa bldh

mi;ksfxrk dh O;k[;k dhft,A

5. Explain the difference between interpolation and

extrapolation.

vkUrjx.ku ,oa ckáx.ku ds chp varj Li"V dhft,A

6. Explain the addition and multiplication theorem of

probability with examples.

izkf;drk ds ;ksx ,oa xq.ku izes; dks mnkgj.k lfgr le>kb,A

7. Explain in brief the role of National Sample Survey

Organization (NSSO) in India statistical framework.

Hkkjr ds lkaf[;dh; <kaps esa jk"Vªh; uewuk losZ{k.k laxBu

(,u,l,lvks) dh Hkwfedk dks la{ksi esa le>kb,A

8. Calculate the mean of the following data :

Daily Wages No. of Workers

100 3

120 6

140 10

160 15

180 4

200 2

220 5
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fuEufyf[kr vk¡dM+ksa dk ek/; Kkr dhft, %

nSfud etnwjh Jfedksa dh la[;k

100 3

120 6

140 10

160 15

180 4

200 2

220 5

**************


